
A. Choose the correct answer: 

1. What is the quotient of 48 ÷ 6?

a) 6 b) 7

c) 8 d) 9

2. 72 ÷ 9 = ?

a) 6 b) 8

c) 9 d) 7

3. What is the remainder when 25 is divided by 4?

a) 0 b) 1

c) 2 d) 3

4. Which of the following numbers is divisible by 3?

a) 22 b) 33

c) 14 d) 25

5. 56 chocolates are shared equally among 7 children. How many chocolates
does each get?

a) 9 b) 7

c) 8 d) 6

B. Write the Missing Terms to Complete the Sentences: 

1. 63 ÷ 9 = ___

2. ___ ÷ 7 = 5

3. 36 ÷ ___ = 6

4. The result of division is called ___

5. In 49 ÷ 7, the quotient is ___

C. Mark each sentence with a True (✔) or False (✘):

1. 72 ÷ 8 = 9 ______ 

2. 36 ÷ 6 = 5 ______ 

Division by 1-digit Number



 

3. The quotient of 81 ÷ 9 is 9 ______ 

4. 27 ÷ 3 = 8   ______ 

5. 18 ÷ 6 = 3   ______ 

D. Figure out the answers to these questions: 

1. There are 64 pages in a book. If Ravi reads 8 pages each day, in how many days 
will he finish the book? 

2. A shopkeeper has 81 mangoes. He puts 9 mangoes in each basket. How many 
baskets does he use? 

3. Divide 96 by 6 and find the quotient and remainder. 

4. Fill in the blanks to complete the division fact: ___ ÷ 4 = 12 

5. Write the division fact for: 8 × 7 = 56 

E. Challenge yourself with these questions: 

1. Find the quotient and remainder: 67 ÷ 8 

2. Distribute 90 pencils equally among 6 students. How many pencils will each 
student get? 

3. Solve: 45 ÷ 5 and check your answer by multiplication 

4. 35 apples are to be packed in trays with 7 apples in each. How many trays will 
be needed? 

5. Divide and verify: 72 ÷ 8 
  


